Helical Vibration Absorber

FH10016

@Products specification might be changed without notice.

Il Specifications

N 65 M Max. flex mm
ass -

Model . Shear and | 45° Compression

mm mm g CEErEES rolling /Rolﬁng
FH10016-1-] 233 335 51 6.3 10.2 9.5
FH10016-2-] 27.1 37.4 52 10.1 15.2 14.3
FH10016-3-] 29.3 39.8 53 12.3 17.8 17.4
FH10016-4-] 34.0 45.4 55 16.6 229 235

[ will be filled in with the mounting type either A or D.

A type (screw of mountin g part) D type (drill end of mountin g part) (gﬁisfgﬁtrr;u;

DL AO00 — IR
T T T T T T T T T 11 1 N 1 1 I
e Jd (T By a’ 5
- Z 1) - = A
|1 D D D D D N A 1 “ Qb‘. ﬁ | | N D D N “ g
n
<
5.5 68.3 5.5 67 2
79 79 -
Installation
Compression T Shear Rolling T 45° Compression/Rolling T
Method
. . .
§l Vibration Selection Graph
Compression installation Shear and rolling installation 45° Compression/Rolling installation (6]
6 2.5 35 T
2 1 2 ! e [ o
y . \ ¥ 2 g 3L g
> > 2 > 2 \ -
3 2 g g C z
5 3 AN 5 § 25 31Ty =
g 4 N B 3 3 P N =
£ N . £1s S-S RIAN N =
: SN : N z ¢ NN
c 3 .| < N < N AN N
g A NN N g NRN g 15 =
g N ~ N g 1 4 b g ~N N
\ N T~ ™~ NN 1 ™~ ™~
2 2 o \\ ~ | @ \ N NN @ N == SSag
g ML RRe. g S | g 1 RN ! =
=t ] = N NS T = N A
2 1 = B c 05 Ny B £ e
£ S £ Namaaal g 05 i
Q Q ~ Q
Q Q Qo
A 0 a o A 0
5 10 15 20 25 30 5 10 15 20 25 30 5 10 15 20 25 30
Natural frequency of the anti-vibration device Hz Natural frequency of the anti-vibration device Hz Natural frequency of the anti-vibration device Hz
Compression installation Shear and rolling installation 45° Compression/Rolling installation
100 / 1 120 %\ 60 ‘
% 2 i 1‘
o
< g0 5 100 / L
3 / 1 4 ’/
<
k] 7 3 ) /1
2 / 4 80 T 71 a0 [T T2
5 60 = 1
5 71 1A i Pz
Z A - 60 7 3
s / % L+ 4 /| |
& 40 /) L~ g // -4
3 ol 40 /4 20 A gann n
K] LA 4 el
S 20 {4 )% 1 Y
a LA 20
£ P | L]
//
0 0
0 5 10 15 20 0 5 10 15 20 0 5 10 15 20 25 30
Flex mm Flex mm Flex mm

217



Helical Vibration Absorber

FH10024

@Products specification might be changed without notice.

N Specifications

H o5 M Max. flex mm

- ass

Model . Shear and | 45° Compression

mm mm & eI rolling /Rolﬁng

FH10024-1-[] 28.8 37.8 102 7.4 10.2 10.5
FH10024-2-[] 30.0 41.5 105 8.9 12.7 12.6
FH10024-3-[] 35.2 46.1 108 13.9 15.2 19.7
FH10024-4-[] 39.7 51.7 112 18.3 20.3 25.9

[J will be filled in with the mounting type either A or D.
Press fitting nut
] A type (screw of mounting part) D type (drill end of mounting part) (Only for A type)

4-M5%0.8

INNRRIVARAAA ' IIRRIVARAAG a

EHHHHHHHHHHHJ)}{vﬁ ] =4 5
’T’*’*’*’*’*’*’T*@’f* *[ 2 . N *1 e
100.3 6.5 98.5 3
113 113
Installation
Compression T Shear Rolling T 45° Compression/Rolling T
Method
v Compression installation Shear and rolling installation 45° Compression/Rolling installation
® g X T g 7 | 2 WY
9 g 2 g 6 1 g
= 3 b ‘ 3
) kel 15 hel hel
2 5 s 5 2 S 10 (2
= 5 5 B
3 8 N s, 5 N
= z z T 8r \
] 3 N = N = 3
£ 10 N £ 3NN N EANIRANERERN
5 4 NG TN 5 3 5 4 N A
a N N a N TN g 6 N Y N N
@ @ LINAN N TN a N N ™~
g N NN g NN g NN ™ T
NN NN 2 N i ™ ™~ —
S s BNS S £ N TN E 4 NN Y
2 \\§§\ \\\h\ 2 \\::\\ BEm 2 \\\:\\\ \\\\\
% Sl g 1 e g 5 T~ T T~
g S| 8 T | & T
3 0 o] 0 ] [
5 10 15 20 25 30 5 10 15 20 25 30 s 10 15 20 25 30
Natural frequency of the anti-vibration device Hz Natural frequency of the anti-vibration device Hz Natural frequency of the anti-vibration device Hz
Compression installation Shear and rolling installation 45° Compression/Rolling installation
400 ‘ 300 ‘ ‘ 200 T
=z 1 =z 1 =z d
g ke 2 g P )
> > > y
£ 300 2 g £ 150 e
c / c c //
2 / 2 200 2 Pa
g Y% < <
B / 3 Z 3 4 z A i
g 200 // é // E 100 //”z [TTh
Z e g 2 A T
% 100 AL LT 2 T 3 . bt
S 100 = X! / pap% S 50 »
g ///// g Y./ A P g %
£ £ /| 1 5
é/
0 0 0
0 5 10 15 20 0 5 10 15 20 0 5 10 15 20 25 30
Flex mm Flex mm Flex mm

218



Helical Vibration Absorber

FH10032

@Products specification might be changed without notice.

Il Specifications

N 65 M Max. flex mm
ass -
Model Shear and | 45° Compression
mm mm i J p
& ERHEEER rolling /Rolling
FH10032-1-[] 34.3 48.3 193 9.6 12.7 13.6
FH10032-2-] 35.9 51.8 200 10.7 15.2 15.1
FH10032-3-[] 40.8 56.3 203 15.8 20.3 22.3
[J will be filled in with the mounting type either A or D.
A type (screw of mounting part) D type (drill end of mounting part) Press fitting nut
(Only for A type) -~
4-M6X1
D0 AR i g
O
B N O D L Q | | N | N | 1
——————————————————— &l 3 e —5T 19 §
I N D D N [ N D N | D N 1
WYYYYRRIIIN g | Y U
N,
8 | 114.3 8 | 112 4
130 130
Installation
Compression T Shear Rolling T 45° Compression/Rolling T
Method
Compression installation Shear and rolling installation 45° Compression/Rolling installation v
o 50 ‘ o 10 B 2 25 ‘ %
1 2 =
) o) 9 3 o) o
g g 8 ‘ 1Y
3 40 2 8 3 9014 1 =
o © © )
c 2 c c T o]
S | S 7 S =
B ‘ B B ! Al
[ o o 3
£ 303 2 6 Q 2 151 N 2
5 5 N IRY 2 NN
g 20 N a4 - 2 10 SERN
é NN é 3 N N é N NN
N ~
2 10 \\\ \\::\\ 2 \\\\ =~ = \\\\ \\\\\\\s
£ SRR SN g 2 = £ 5 = =8
= T~ T~ ==
s R mmeay S s -
Q Q Q
> =] >
5 10 15 20 25 30 5 10 15 20 25 30 5 10 15 20 25 30
Natural frequency of the anti-vibration device Hz Natural frequency of the anti-vibration device Hz Natural frequency of the anti-vibration device Hz
Compression installation Shear and rolling installation 45° Compression/Rolling installation
700 T 500 350 ‘ ‘
- 1 = ! 2 z 1 2
Y 600 ; ] 400 / < 300 P g
> > i — > Lot
3 yaipd g 3 g patlsan
S 500 7 S / S 250 7
g 4% 3| % % 49
S Wi 5 300 5 /] 3
g 400 v % = 2 S 200 a IRty
/| 1] / Banl
5 300 5 200 = 150
s 1 g 7 g L
el 1 o ° I
S 200 8 P 8 100 /’
g e g 100 A g
£ 100 g - £ o
0
0o 5 10 15 20 0 5 10 15 00 5 10 15 20 25
Flex mm Flex mm Flex mm

219



Helical Vibration Absorber

FH10040

RoHS Compliant

@Products specification might be changed without notice.

N Specifications

H o5 M Max. flex mm

- ass

Model . Shear and | 45° Compression

mm mm g eI rolling /Rolﬁng

FH10040-1-] 335 50.6 223 8.2 12.7 11.6
FH10040-2-] 35.6 52.2 232 10.4 15.2 14.7
FH10040-3-] 40.9 58.4 235 15.4 20.3 21.8
FH10040-4-] 45.7 64.6 249 20.2 27.9 28.6

[] will be filled in with the mounting type either A or D.

(%]
T
W
=
il
o
o
Q

ol
[©]

©

220

A type (screw of mounting part)

D type (drill end of mounting part)

Press fitting nut

4-M6X1 (Only for A type)
QOO ARG — ’
©
N \iHHHHHHHHHHV — \iHHHHHHHHHHV | P —
(@ oo Bl g (g 59§ 8 -
iy m ‘H‘ ‘H‘ ‘H‘ ‘H‘ ‘H‘ ‘H‘ ‘H‘ ‘H‘ ‘H‘ ‘H‘ Tﬁ TJ - ﬁT ‘H‘ ‘H‘ ‘H‘ ‘H‘ ‘H‘ ‘H‘ ‘H‘ ‘H‘ ‘H‘ ‘H‘ Tﬁ =
\Y
Ul ¢ Ul
f ! L |
130 130
Installation
Method Compression T Shear Rolling T 45° Compression/Rolling T
etho

Compression installation Shear and rolling installation 45° Compression/Rolling installation

i 90 ‘ T o 25 ‘ T 2 60 I
1
y 80 y ; g ]
s 5 s 2 < 59
° 70 3 20 3
s s s
g 60 & 3 g 40?
:-% 50 \3 _% 1514 % 3& \\
N N = 3 NN
[ \ [ \ [
7 30 NSNS : 0 NN TN T 4 20 NN
g N \\ ™ \\ g ™ ~ T~ = ~— g \\ ™~ I~ \\\
o N NSNS o ~ [~ e i o <
= 20 ~ = ~ S 5 ™~ [~ [~ = N N T T
kS \\\\\\\\\:\ \\\ E T € 10 ™~ | [~ | T~
g 10 ~ . =l N g T~ T S T~ T
a Tt ™~ o o
3 g ] 2, 3
5 10 15 20 25 30 5 10 15 20 25 30 05 10 15 20 25 30

Natural frequency of the anti-vibration device Hz

Natural frequency of the anti-vibration device Hz

Nl Impact Selection Graph

Natural frequency of the anti-vibration device Hz

Compression installation

Shear and rolling installation

45° Compression/Rolling installation

1,600 | ‘ 1,000 ‘ ‘ 1,000
1 1
T 1400 ' 2 l 1 ARl
3 / % 800 2 3 3 800 /
€ 1,200 8 8 4
c ’ / c c /
E 1,000 77 3 £ 600 3 600 2
2 800 /] LA z /] P z —1 | 3
15 74 P 4 < 74 7 IS —
5 LA = 5 pannY 5 [ A 1A .
400 400 7 L
a 600 = Q / ¥ Vv a P |
2 A L 3 ALY 3 /4 e
2 4 el S £ VT A = WA AT
g 400 A 5 A o 1
g A g 200 7 = g 200
£ 200 £ /// L1 £ )
0 5 10 75 20 0 0
0 5 10 15 20 0 5 10 15 20 25 30 35
Flex mm Flex mm Flex mm



Helical Vibration Absorber

FH10048

@Products specification might be changed without notice.

Il Specifications

N 65 M Max. flex mm
ass -
Model . Shear and | 45° Compression
mm mm g CEErEES rolling /Rolﬁng
FH10048-1-[] 335 46.1 256 6.2 10.2 8.8
FH10048-2-] 37.8 51.4 280 10.9 12.7 15.4
FH10048-3-[] 42.0 57.4 286 15.0 12.7 21.2

[J will be filled in with the mounting type either A or D.

A type (screw of mounting part) D type (drill end of mounting part)

-
OBy IUuUU

130 130 (H)

Press fitting nut
(Only for A type,

4-M6X1

6.6

|

|

|

|

|

|

|

|

|

|
16
22
D)

|

Installation
Method Compression T Shear Rolling T 45° Compression/Rolling T
etho
Compression installation Shear and rolling installation 45° Compression/Rolling installation (6]
o 160 ‘ 2 60 o I o>
1 ! = =
g 140 g o g ! 8
4 2 3 5 —
T 120 = 2 8
S k) <] oy
® w© 40 = 80 =
s 100 5 2 2 o
2 2 2 2 |3 =
= 3 = A =3
c 80 S 30 S
N TN s SN
g 60 B N 5 2 N NN & N
& N b S s 40 N
i 0 N A 1 an N \\\\ \\\\- g \\ \\\ \\\\§
= \\ §:§‘§ £ \\\ \5\\\ £ \\\ \\\\ \\ss
g 20 Bus T 5 10 A g 20 AR REa -
Q =] Q =L Q O N B
Qo [~ Q Q ™
A o ] E: o 3
5 0 15 20 25 30 05 10 15 20 25 30
Natural frequency of the anti-vibration device Hz Natural frequency of the anti-vibration device Hz Natural frequency of the anti-vibration device Hz
Compression installation Shear and rolling installation 45° Compression/Rolling installation
3,000 2,500 2,000
1 1 1
=z / =z ) =z
[ [ [
% 2,500 % 2,000 %
'g v 2 'g 'g 1,500
S 2,000 4 3 S 5 L1712
=] V =] 2 =3
g / 1 £ 1,500 £ -
= L1 = = // 3
Z 1500 LA < /] £ 1,000 B
g / B 7 g’ T
g / P g 1.000 e 31 & / ]
< 1,000 o /I A L o /LA
© © © /
3 /| | 3 V A L+ 3 1
ot 7 u A -1 5 200 %
8 s00 [/ g 0 T LA g %
£ / £ A AT 1] £
) 0 ) 0 AT :
0 5 10 20 0 2 4 6 8 10 0 5 10 15 20 25 30 35
Flex mm Flex mm Flex mm

221



Helical Vibration Absorber

FH08064

@Products specification might be changed without notice.

N Specifications

H o5 M Max. flex mm
- ass
Model Shear and | 45° Compression
mm mm i r p
& SIS e rolling /Rolling
FHO08064-1-] 54.1 75.0 566 16.4 20.3 23.2
FHO08064-2-[] 60.8 82.0 595 22.9 25.4 324
FHO08064-3-] 70.8 98.0 679 324 40.6 45.8
FH08064-4-] 79.7 112.6 698 42.9 48.3 60.7
[] will be filled in with the mounting type either A or D.
: ; . Press fitting nut
| A type (screw of mounting part) D type (drill end of mounting part) (Only for A type)
WA e [0 2
O
ﬁj H [T T T T T T T ﬂ [ §<\ N ﬁj u T T T T T T T U ~
© IhE Rg 8
~ ()
\ﬁj (W//UUU Uj | Qb?) (WUUUUW | .
9.5 131.1 9.5 129 4
| 150 150 (H
Installation
Compression T Shear Rolling T 45° Compression/Rolling T
Method
v Compression installation Shear and rolling installation 45° Compression/Rolling installation
% 2 140 I o 45 ] 2 1007
= 1 1
o S ’ 3 35 S 80
o S 100 5 2 5
o B & 30 \ IS
o 8 8 3 S g0l2
) z 80 N 254 3
5 N 5 4 5
5 60 -3 N N g 20 5 N
o 7 N N o S 40|3
9 N N TN 9 @ N
< N N < 15 < ~
€ 40 N € N £ 4 N| N
g NN NN 2 10 B 2 20 MRS T—
e i = § [T
Q bt (=% e [} =
3 2 3 T
5 10 15 20 25 30 5 10 15 20 25 30 5 10 15 20 25 30
Natural frequency of the anti-vibration device Hz Natural frequency of the anti-vibration device Hz Natural frequency of the anti-vibration device Hz
Compression installation Shear and rolling installation 45° Compression/Rolling installation
2,500 2,000 1,500 v
1 ‘ A
Vi o
=z T =z z Val
$ 2000 / 2 g 1 g //
g2 9 g i pe 5
g JARVZ g 2 g [ LA
5 7 5 5 Pog
=] = = LA
g 1,500 g 3 g ///
< 3 < <
= L~ = = [
5 ol By g A1 U A / EHH3
g 1000 71/ > == 3 a g AT
= AT £ AT T £ oot ot
3 / V1A LA S 500 7 - 3 A AT
= | = d ] R = V| T
g 500 g AT LT L1 ] L
g [iP%% g ALH L g bz
E 2 E %;/:,,——— E
0 o T 0
0 10 20 30 40 0 5 10 15 20 25 30 0 10 20 30 40 50 60
Flex mm Flex mm Flex mm

222



Helical Vibration Absorber
FHM08375

@Products specification might be changed without notice.

8-M6 x 1 insert (Shape of mounting par ts: A)
— H oD Mass L
Model Tl i g
FHMO08375-1 711 84.1 1.043
<t Q
SR ECRECICRECR @g o E Ei FHM08375-3 | 76.2 | 1049 | 1.179
QM H H H U FHMO08375-7 108.0 | 139.7 | 1.406
30.2) 445 1113 16.0
155.7
215.9 H
Standard shape of mounting parts | Please refer to page 208 Max. flex mm
D A ;:/\éoi ;e?l:'re O:hrr?r s:eta_ges s Model Compression | Shear and | 45° Compression
Or your mounting parts. P rolling /Rolling
FHMO08375-1-[] 25.4 25.4 38.1
$6.6 M6x1 FHMO08375-3-[] 33.0 38.1 58.4 |-
Insert FHMO08375-7-[] 55.9 55.9 114.3
. will be filled in with the mounting type either A or D.
6.6 U g typ
Installation
Compression T Shear Rolling T 45° Compression/Rolling T
Method
Il Vibration Selection Graph .
T
Compression installation Shear and rolling installation 45° Compression/Rolling installation o
2 2 70 2 T &
I] [\
O LN T ) o -1 —
g A g o =
g g g 200 g
c 200 c [{-1 c \ Y]
s \ g s0 g \ g
© © \ © =
g \ g S 150 X
3 150 [+_3 40 > F-3
= s i v \ Z ¥
5 & ¥ S
& 00 L g 303 g 100 [
g Y g 20 AR N g L
> [ N o L7 1203y 2 501 Y
£ o = i 5 10N I N £ 7 e
19 S O o o Y B O T 5 ~—__| BEE s T
g = e g g
a a o0 a 0
0
5 0 15 20 5 10 15 20 5 10 15 20
Natural frequency of the anti-vibration device Hz Natural frequency of the anti-vibration device Hz Natural frequency of the anti-vibration device Hz
Compression installation Shear and rolling installation 45° Compression/Rolling installation
5,500 4,500
_1 -]
> 5000 ~ 2500 = 4000 -
g 4500 g 3 g 5
H B s -3 3 3,500
S 4,000 ¥ S 2,000 G ° .17
2 3,500 e g / . § 3000 »
g 3000 o8 2 1500 ¥ 2 2500
§ 2500 ne 5 £ 2000 :
g 2000 / it i g 1,000 ’ -7 g ! b4
5 { — 5 P S 1,500 et
8 1,500 B T 3 R A~ 3 K T
5 [ ~ t . 1 S 1,000 =
§  1.000 - 2 500 - —~ g / el
E [ A E . 1 E 500 it
500 Hei_~ —
e 7 [ // A
0 0 0
0 10 20 30 40 50 0 10 20 30 40 50 0 20 40 60 80 100
Flex mm Flex mm Flex mm

223



Helical Vibration Absorber

FHMO08500

@Products specification might be changed without notice.

l Dimensions

8-M6 X 1 insert (Shape of mounting par ts: A)

H oD Mass
Model Pt e kg
al FHMO08500-2 | 88.9 | 1049 | 1.769
O |1 FHMO08500-3 | 953 | 120.7 | 1.950
FHMO08500-5 | 1245 | 1435 | 2.358
19.1
H

Jl Standard Shape of Mounting Parts and Maximum Flex

Standard shape of mounting parts f’lease refgr to page 208 Max. flex mm
D A if you require other shapes Model C . Shear and |45° Compression
M6 X 1 for your mounting parts. Ompression | rolling /Rolling
FHMO08500-2-] 40.6 33.0 68.6
%9 M6x FHM08500-3-] 43.2 38.1 81.3
Insert FHM08500-5-[] 71.1 58.4 101.6
9 [J will be filled in with the mounting type either A or D.
‘)H(i
Installation c i ? Sh Rolli 45°C /Roll 1
ompression ear ollin, ° Compression/Rolling
Method ¢ T

o . . .
| |} Vibration Selection Graph
D)
§ Compression installation Shear and rolling installation 45° Compression/Rolling installation
= 2 400 2 70 > 2 T
S 8 350 £\ g \ g 250N
= IERRdE ¢ ol ¢\
o o \- -2 © ' °
= 5 300 \ 5 \ § 200
H [\ © 50 i) g . \\
2 250 = 2 2 Y
é < .é 40 *E 150 NEAN
s 200 F -3 o s ‘.‘ N s 3
QJ AN 0) v
o S a 30 . Q -3 X
2 150 i 2 [\ | N 2 100 ]
£ L 4 € 20 RN | £ N
2 100 N = 2 N ] g N 1<k
£ g T g N FEL 5 50f-5 s
& 50 F-5 g 10 S e g R =
A =1t A R a i
I 0
o1 0
5 10 15 20 5 10 15 20 5 10 15 20
Natural frequency of the anti-vibration device Hz Natural frequency of the anti-vibration device Hz Natural frequency of the anti-vibration device Hz
llmpact Selection Graph
Compression installation Shear and rolling installation 45° Compression/Rolling installation
~ 10,000 -~ 3,500 Z 7000 =
8 9,000 12 g 2 £ A
> > >
] 7 o 3,000 9]
T 8000 13 3 / , 3 E 6,000 /
=] ‘ =] . =] -
> 4 = ’ = L
= / 15 £ 2,000 - = 2 Ridal
§ 5000 - L= & / K f § 4000 5
2 4000 o = £ 1500 £ 3000 o ==
3 3.000 7 3 ',' 8 § . L [ ——
s 3 . S 1,000 : g 2,000 ‘ =
© 1 < © d 4 L~
g 2000 s / / £ a2
~ 1000 7 oS00 " 1000 L
0 0 ] | | | | 0
0 10 20 30 40 50 60 0 10 20 30 40 50 0 10 20 30 40 50 60 70 80 90

224 Flex mm Flex mm Flex mm



Helical Vibration Absorber

FHMO08625

@Products specification might be changed without notice.

l Dimensions

8-M10x1.5insert (Shape of mounting par ts: A)

H oD Mass

Model . T kg

FHM08625-1 88.9 101.6 | 2.875
FHM08625-3 | 109.2 | 134.6 | 3.592
FHMO08625-5 | 127.0 | 165.1 4.236

Ok-JoK-JoIOK-IOK-XON

oy I

378] 546 | 1367

191.3
266.7 |
[ P &
Standard shape of mounting parts | Please refer to page 208 Max. flex mm
D A ;:/\éoi ;e;qt:lre O:hrr?r s:eta_ges s Model Compression | Shear and | 45° Compression
Or your mounting parts. P rolling /Rolling
FHM08625-1-[] 30.5 30.5 45.7
911 FHM08625-3-[] 457 45.7 71.1
M10x1.5
Tnsert FHMO08625-5-] 63.5 63.5 91.4
#11 [J will be filled in with the mounting type either A or D.
Installation
Compression T Shear Rolling T 45° Compression/Rolling T
Method
Nl Vibration Selection Graph =
T
o}
Compression installation Shear and rolling installation 45° Compression/Rolling installation 8]
_@ T _@ T g :
(s -7 0
| 1 2
8 800 R g 150 N 8 500 i &
3 B 3 \ -1 3 a o
© © ° L\ -1 =
c \ c =
2 \ 2 N\ S 400 [\
c 600 \ o ‘ S \
E \ S 100 5 \ g \
z \ = I 2 300 A
< N < ‘\ S < ‘\
g 400 FPad——\ [} o T F3y-3
Q Eit -3 =N Q o o - AV
2 R 2 \( 2 200
e S = 50 AN € AN : <
2 200 2 F TR g 5
2 X = F-1-5 Lo £ 100 L
s} £ o =g Q - J=¥<
g F-5 4k g = g > P T
A = 2 T 2 1 =
-1 0 o L1
5 10 15 20 5 10 15 20 5 10 15 20
Natural frequency of the anti-vibration device Hz Natural frequency of the anti-vibration device Hz Natural frequency of the anti-vibration device Hz
2 Compression installation Shear and rolling installation 45° Compression/Rolling installation
8 15
z z } z 1
Q Q Q
g 1 1/ z 7 17 e
s 15 S 7/ S
c c 6 c
S / g 3 S 10
© / 3 Eid © / I o 3
o -r 8 5 7 i IS /
z / A < 4 z
g 10— ; — 2, / - e -]
s / ; [ © /. LA S o > / .-
2 g - i g -
8 - 5 s 3/ 5 5 o i
] 1 g ; g JARE |
= 577 T 2L /1 5 4 |
g ! g [ L g ‘
o = ISP
£ ; £ . £ ,
4 % [
0 0 0
0 10 20 30 40 50 60 0 10 20 30 40 50 60 0O 10 20 30 40 50 60 70 80

Flex mm Flex mm Flex mm 225



Helical Vibration Absorber

FHMO08875

@Products specification might be changed without notice.

l Dimensions

NI .

Peoenoen sy o

wosu I e

50.8|  76.2 190.5

266.7
3683 H

8-M12 X 1.75 insert (Shape of mounting par ts: A)

H oD Mass

Model Pt e kg

FHMO08875-1 133.4 | 139.7 | 8.164
FHM08875-3 | 158.8 | 177.8 | 9.525
FHM08875-4 | 190.5 | 209.6 | 10.886

Jl Standard Shape of Mounting Parts and Maximum Flex

Standard shape of mounting parts | Please refer to page 208 Max. flex mm
D A if you require other shapes. Model

Shear and
rolling

FHM08875-1-[] 50.8 53.3 63.5

FHM08875-3-[] 76.2 73.7 96.5

FHM08875-4-[] 91.4 83.8 119.4
[J will be filled in with the mounting type either A or D.

Compression 45° Compression / Rolling

Installation Compression T
Method

45° Compression/Rolling T

Rolling T

Il Vibration Selection Graph

Shear and rolling installation 45° Compression/Rolling installation
800

Compression installation

2,000

500

(%]
T
(!
=
il
o
o
Q

ol
o

g

700

E——
T

600

400

1,500 [

500

300

1,000 400

200

500 N{—t<

200 3

100 2

i s S

Supporting mass per anti-vibration device kg

Supporting mass per anti-vibration device kg
: N A

Supporting mass per anti-vibration device kg

0

5 10 15 20 5 10 15 20 5 10 15 20
Natural frequency of the anti-vibration device Hz Natural frequency of the anti-vibration device Hz Natural frequency of the anti-vibration device Hz

Nl Impact Selection Graph

20 Compression installation Shear and rolling installation 45° Compression/Rolling installation

Ef -1

~

20

30

20

% 20 / .

[IBG
[
|
/,

0 0 | | | | | | |
226 510 20 30 40 50 60 70 80 90 0O 10 20 30 40 50 60 70 80 0 20 40 60 80 100
Flex mm Flex mm Flex mm

o

Slmpact load per anti-vibration device kN

Simpact load per anti-vibration device kN

Simpact load per anti-vibration device kN
AN




